
Version for manifold mounting
with O-ring sealing
Bottom side

B 1.520
Issue 12-06 E

Block Cylinder
for stroke end control
max. operating pressure 500 bar

Subject to change without notice

Römheld GmbH · Postfach 1253 · 35317 Laubach, Germany · Tel.: +49 (0) 64 05 / 89-0 · Fax: +49 (0) 64 05 / 89-211 Actual issue see www.roemheld.com

Application
Double-acting block cylinders with stroke end
control are particularly suitable for automated
installations, time and cycle-dependent
clamping and unclamping.

Description
The stroke end control supplies the required
information about the position of the piston.
Control is made by pressure-proof sensors,
which are fixed at the corresponding stroke
end of the cylinder piston in the body.

Advantages
● Compact design
● Same dimensions as the block cylinders 

as per data sheet B 1.509, 
except for total length

● Diverse mounting possibilities
● 3 standard stroke lengths
● Sensors can be mounted at the right or 

left-hand side
● Switching point of the sensors adjustable

up to 5 mm before the final position

● All standard versions are equipped with
VITON® seals

Important notes
The high-pressure resistant sensors are
delivered separately for mounting at place of
installation in order to avoid transport damage.
Please refer to the installation instructions on
page 4.

Maximum environmental temperature 
according to the sensor –25...+80 °C or
+120 °C. Application example

Application for pressing in of piston rods
into the pistons.

To monitor the press-in depth of the
piston rods, the stroke ends of the block
cylinder is controlled.

Version for manifold mounting
with O-ring sealing

Version with connecting thread

Fixing possibilities

Cylinders must be backed up for operating
pressures exceeding 160 bar



Subject to change without noticeB 1.520 / 12-06 E
2

Technical characteristics

c

A

Ø d

0,05 A SW

r

n

h

g

Ø D

p

z

a1

a2

z1

f
a

m

k

b

g

t

o

s

l

For use of the sensors at the left side, the cylinder will be rotated by 180° and the plug with sealing ring and the O-ring 
for manifold mounting are exchanged.

Contact bolts
see data sheet
G 3.800

Accessories:
sensors

Only for 1531-, 1533- and 1534-

Counterbore for socket head cap screw DIN 912

R = max. 2 mm

Dimensions – Version with connecting thread

approx. a1

approx. a2

Plug 3614-234
is included in our
delivery

v2

c

y

h

v1

f

x

a

g

b1
b

u

w

Ra≤0,8

Retract

Extend

c

y

v2

h

v1

h1

f

x

g

ab1
b

u

w

Ra≤0,8

Retract

Extend

Plug with 
sealing ring

O-ring for manifold mounting

Oil supply and O-ring sealing at:

Broad side
Version K

16-40 stroke

Broad side
Version L

from 50 stroke

Accessory:
sensors

Accessory:
sensors

a

g

b

s/2

s

Ra≤0,8

v21 v22
w

u
t

Bottom side 
Version B



Subject to change without noticeB 1.520 / 12-06 E
3

Dimensions

Piston Ø D [mm] 16 25 32 40 50 63 80 100
Stangen-Ø d [mm] 10 16 20 25 32 40 50 63
Force to 100 bar [kN] 2 4.9 8 12.6 19.5 31.2 50.4 78.4
push at 500 bar [kN] 10 24.5 40.2 62.8 98.5 156 252 392
Force to 100 bar [kN] 1.2 2.9 4.9 7.7 11.6 18.6 30.6 47.4
pull at 500 bar [kN] 6.1 14.5 24.5 38.3 57.9 93 153.2 236.8
Oil volume/ stroke to extend [cm3] 2.01 4.91 8.05 12.56 19.63 31.17 50.26 78.54
10 mm stroke stroke to retract [cm3] 1.2 2.9 4.9 7.7 11.6 18.6 30.6 47.4
a [mm] 60 65 75 85 100 125 160 200
a1 [mm] 35 34.5 33.5 33.5 30 47 37 42
a2 [mm] 35 34.5 33.5 34 32 47 39 44
b [mm] 35 45 55 63 75 95 120 150
b1 [mm] 4 5 5 5 6 5.5 7.5 7.5
c [mm] 6 7 10 10 10 14 14 15
f [mm] 30 50 55 63 76 95 120 158
g [mm] 6.5 8.5 10.5 10.5 13 17 21 25
h [mm] 40 38 45 45 49 52 62 64
h1 [mm] 24 38 29 26 33 37 47 52
k [mm] 17.5 22.5 27.5 31.5 37.5 47.5 60 75
m [mm] 11 16 13 12 13 20.5 20 24
n [mm] 16.5 18 24 24 27 26 34 35
o x depth of thread [mm] M6x12 M10x15 M12x15 M16x25 M20x30 M27x40 M30x40 M42x60
p G1/4 G1/4 G1/4 G1/4 G1/4 G1/2 G1/2 G1/2
r [mm] - - - 4 4 4 5 6
s [mm] 40 50 55 63 76 95 120 158
t [mm] 22 30 35 40 45 65 80 108
u ± 0.05 [mm] 1.1 1.1 1.1 1.1 1.1 1.5 1.5 1.5
v1 extend [mm] M4 M5 M5 M5 M6 M6 M8 M8
v2 retract [mm] M4 M5 M5 M5 M6 M6 M8 M8
v21 extend [mm] 3.5 4 5 6 6 8 8 8
v22 retract [mm] 3.5 4 5 6 6 8 8 8
w +0.2 [mm] 9.8 9.8 9.8 9.8 10.8 13.8 13.8 13.8
x [mm] 9 16 13 10.5 13 18 22.5 24
y [mm] 20.5 21 27 27 29.5 31.5 39 40
z [mm] 28 24.5 30.5 30 33 34.5 41.5 42.5
z1 [mm] 11 12.7 14.5 13 17.5 21 26 30
R [mm] - - - 2 2 2 2 -
SW [mm] 8 13 17 - - - - -
Dimensions O-ring 7x1.5 7x1.5 7x1.5 7x1.5 8x1.5 10x2 10x2 10x2
Part-no. O-ring 3001-077 3001-077 3001-077 3001-077 3000-275 3001-078 3001-078 3001-078

Stroke ±1 [mm] 16 20 25 25 25 30 32 40
Total length l ± 1 [mm] 81 88 102 104 109 126 141 156
Weight [kg] 1 1.6 2.7 3.4 5.1 8.9 16.3 28.2
With connecting thread
Part-no. 1531-136 1533-136 1534-136 1535-136 1536-136 1537-146 1538-146 1539-156
For manifold mounting with O-ring sealing
Part-no.  Version K 1531-130K 1533-130K 1534-130K 1535-130K 1536-130K 1537-140K 1538-140K 1539-150K
Part-no.  Version B 1531-136B 1533-136B 1534-136B 1535-136B 1536-136B 1537-146B 1538-146B 1539-156B

Stroke ±1 [mm] 50 50 50 50 50 63 80
Total length l ± 1 [mm] 115 118 127 129 134 159 189
Weight [kg] 1.7 2.3 3 4.2 6.2 11.1 21.7
With connecting thread
Part-no. 1531-166 1533-166 1534-166 1535-166 1536-166 1537-176 1538-186
For manifold mounting with O-ring sealing
Part-no.  Version L 1531-160L 1533-160L 1534-160L 1535-160L 1536-160L 1537-170L 1538-180L
Part-no.  Version B 1531-166B 1533-166B 1534-166B 1535-166B 1536-166B 1537-176B 1538-186B

Stroke ±1 [mm] 100 100 100 100 100 100 100 100
Total length l ± 1 [mm] 165 168 177 179 184 196 209 216
Weight [kg] 2.5 3.3 4.8 6 8.6 14 24.2 39
With connecting thread
Part-no. 1531-196 1533-196 1534-196 1535-196 1536-196 1537-196 1538-196 1539-196
For manifold mounting with O-ring sealing
Part-no.  Version L 1531-190L 1533-190L 1534-190L 1535-190L 1536-190L 1537-190L 1538-190L 1539-190L
Part-no. Version B 1531-196B 1533-196B 1534-196B 1535-196B 1536-196B 1537-196B 1538-196B 1539-196B

Accessory sensor
Part-no. 3829-180 3829-180 3829-180 3829-180 3829-180 3829-030 3829-030 3829-204
Accessory pull-type connector pnp
M12x1 knee-type
Part-no. 3829-049 3829-049 3829-049 3829-049 3829-049 3829-049 3829-049 3829-049
M12x1 straight
Part-no. 3829-078 3829-078 3829-078 3829-078 3829-078 3829-078 3829-078 3829-078
Technical characteristics see page 4



Subject to change without noticeB 1.520 /12-06 E
4

High-pressure resistant sensors

For block cylinders: 1531-XXX 1537-XXX 1539-XXX
1533-XXX 1538-XXX
1534-XXX
1535-XXX
1536-XXX

General and technical characteristics
Environmental temperature °C -25...+80  -25...+120 -25...+80 -25...+120 -25...+80
Rated operating distance Sn mm 1,5  1,5 1,5 1,5 1,5
Assured operating distance Sa mm 0...1.2  0...2 0...1.2 0...2 0...1.2
Repeatability % ≤ 5  ≤ 5 ≤ 5 ≤ 5 ≤ 5
Hysteresis % ≤ 15 ≤ 15 ≤ 15 ≤ 15 ≤ 15
Dimension DxT mm M12x1 x 56 M12x1 x 56 M12x1x78 M12x1 x 78 M12x1 x 93
Material of the body 1.4104 1.4104 1.4104 1.4104 1.4104
Material of sensing face EP (duroplastic) ceramics EP (duroplastic) ceramics EP (duroplastic)
Code class IP 68 68 68 68 68 
Type of connection Connector S4 Connector S4 Connector S4 Connector S4 Connector S4
Electrical characteristics
Voltage DC DC DC DC DC
Wiring 3 wires 3 wires 3 wires 3 wires 3 wires
Switching function interlock interlock interlock interlock interlock
Output signal pnp pnp pnp pnp pnp
Rated operating voltage V 24 DC 24 DC 24 DC 24 DC 24 DC
Rated operating current mA 200 200 200 200 200
Voltage V 10...30 DC  10...30 DC 10...30 DC 10...30 DC 10...30 DC
Residual ripple % ≤ 15 ≤ 15 ≤ 15 ≤ 15 ≤ 15
Switching frequency Hz 1000 2000 1000 2000 1000
No-load current mA ≤ 10/≤ 2  ≤ 8 ≤ 10/≤ 1 ≤ 8 ≤ 10/≤ 1
Voltage drop V ≤ 1.5/-  ≤ 2.5 ≤ 1.5/- ≤ 2.5 ≤ 1.5/-
Protection against short circuit yes yes yes yes yes
Protection against reverse battery yes yes yes yes yes
Part-no. sensor 3829-180 3829-228 3829-030 3829-227 3829-204
Part-no. O-ring  (included in the 3001-550 3001-550 3001-551 3001-551 3001-550
Part-no. Back-up ring delivery) 3001-552 3001-552 3001-552 3001-552 3001-552

SW 17

7,
4

3,
7

17
,9

60

78

M 12x1

SW 10

Ø 10 e7Ø 10 e7

SW 17

SW 10

M 12x1

56

7,
4

3,
7

14
,91

4

3

+

–

Front sensor:
1. Extend piston rod completely
2. Carefully, screw the sensors in to the stop at the piston

Turn back the sensor:
Rotation       Switching point before the final position

1/4                            approx. 4 mm
1 1/4                          approx. 1 mm

3. Lock the sensor in this position by means of a nut
4. Wire the switch electrically and check the function

Rear sensor:
1. Retract completely the piston rod

(Further steps see front sensor)

a

b

c

b

LED: Voltage (green)
Function display (yellow)

brown

black

blue

Mounting and adjustment of sensors

Ø10e7

7,
4

17
,9

3,
7

75

93

M12x1

SW17

SW10

Piston

Accessories for sensors a b c Code class Environmental temperature LED Part-no.
Plug-type connector pnp M12, knee-type 25 39 - IP68 -25...+70°C yes 3829-049
Plug-type connector pnp M12, straight - 41 14.5 IP68 -25...+70°C no 3829-078
Plug-type connector pnp M12, knee-type 31.5 38 - IP67 -40...+105°C no 3829-230
Plug-type connector pnp M12, straight - 35.5 14.5 IP67 -40...+105°C no 3829-229
All plug-type connectors with 3 meters cable



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Gray Gamma 2.2)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.1000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo false
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Remove
  /UsePrologue false
  /ColorSettingsFile (None)
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
    /Arial-Black
    /Arial-BlackItalic
    /Arial-BoldItalicMT
    /Arial-BoldMT
    /Arial-ItalicMT
    /ArialMT
    /ArialNarrow
    /ArialNarrow-Bold
    /ArialNarrow-BoldItalic
    /ArialNarrow-Italic
    /ArialUnicodeMS
    /CenturyGothic
    /CenturyGothic-Bold
    /CenturyGothic-BoldItalic
    /CenturyGothic-Italic
    /CourierNewPS-BoldItalicMT
    /CourierNewPS-BoldMT
    /CourierNewPS-ItalicMT
    /CourierNewPSMT
    /Georgia
    /Georgia-Bold
    /Georgia-BoldItalic
    /Georgia-Italic
    /Impact
    /LucidaConsole
    /Tahoma
    /Tahoma-Bold
    /TimesNewRomanMT-ExtraBold
    /TimesNewRomanPS-BoldItalicMT
    /TimesNewRomanPS-BoldMT
    /TimesNewRomanPS-ItalicMT
    /TimesNewRomanPSMT
    /Trebuchet-BoldItalic
    /TrebuchetMS
    /TrebuchetMS-Bold
    /TrebuchetMS-Italic
    /Verdana
    /Verdana-Bold
    /Verdana-BoldItalic
    /Verdana-Italic
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 150
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 150
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.76
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 150
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 150
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.76
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects true
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile (None)
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e55464e1a65876863768467e5770b548c62535370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc666e901a554652d965874ef6768467e5770b548c52175370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /ESP <>
    /FRA <>
    /ITA (Utilizzare queste impostazioni per creare documenti Adobe PDF adatti per visualizzare e stampare documenti aziendali in modo affidabile. I documenti PDF creati possono essere aperti con Acrobat e Adobe Reader 5.0 e versioni successive.)
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020be44c988b2c8c2a40020bb38c11cb97c0020c548c815c801c73cb85c0020bcf4ace00020c778c1c4d558b2940020b3700020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken waarmee zakelijke documenten betrouwbaar kunnen worden weergegeven en afgedrukt. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents suitable for reliable viewing and printing of business documents.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
    /DEU <>
  >>
>> setdistillerparams
<<
  /HWResolution [600 600]
  /PageSize [612.000 792.000]
>> setpagedevice


